

Exhibit D

Estimate #EST-156 4/11/2025

SoCal Truck Accessories & Equipment 10460 Mission Gorge Rd Santee CA 92071 (619) 749-0742

Bill To

Jeffery Hart City Of Oceanside 4927 Oceanside Blvd Oceanside CA 92056 United States (760) 435-5980

\$16,993.71

TOTAL

Sales Rep	Contact Information	Notes
Paul Vakili	<u>paul@socaltruck.com</u> 1 (619) 729-3362	2024 Ford E-Transit 148 HR - W101

Item	Quantity	Price	Ext Price
RDF5-RA36-3 Fold-Away Shelf unit, with 3 shelves, 64"h x 36"w RANGER DESIGN	2	\$2,001.00	\$4,002.00
RD6555-FTL Shelving install kit, passenger side, Ford Transit 148" Wheelbase RANGER DESIGN	1	\$129.00	\$129.00
RD3067-FTH 20" Wide Sliding Door Partition, Polycarbonate Window, Aluminum, Ford Transit High Roof RANGER DESIGN	1	\$2,408.00	\$2,408.00
RD6550-FTL Shelving install kit, driver side, Ford Transit 148" Wheelbase RANGER DESIGN	1	\$158.00	\$158.00
RD6092-42 Universal 42" LED Bar Lighting Kit RANGER DESIGN	3	\$68.00	\$204.00
RD6541-FTL Van floor with inserts to install units, EV safe, drill free mounting, Ford Transit 148" WB RANGER DESIGN	1	\$1,282.00	\$1,282.00
LEG744-114-2613.HR DuraTherm Wall Liner Ford Transit 148" HR LEGEND FLEET	1	\$1,571.00	\$1,571.00
LEG703-114-2613.HR DuraTherm Door Liner Ford Transit (all WB lengths) HR LEGEND FLEET	1	\$501.00	\$501.00
298 Spray-On Bedliner MIL-SPEC LINER	1	\$622.50	\$622.50
298LABOR Spray-On Bedliner Labor; (Truck Bed Empty w/ No Toolboxes or Bed Covers) MIL-SPEC LINER	1	\$622.50	\$622.50
ECCED3794AW Directional, 12 LEDs, flexible, surface mount, dual color, 12-24VDC, amber/white ECCO ESG.	6	\$139.00	\$834.00
CUR13193 CLASS III RECEIVER HITCH CURT MFG.	1	\$221.00	\$221.00
DRA119190 ModuLite® HD Plus Protector w/Integrated Circuit & Overload Protection Trailer Light Power Module DRAW-TITE	1	\$74.95	\$74.95

Light Power Module | DRAW-TITE



Estimate #EST-156 4/11/2025

SoCal Truck Accessories & Equipment 10460 Mission Gorge Rd Santee CA 92071 (619) 749-0742

Item	Quantity	Price	Ext Price
CUR57672 4 WAY FLAT TO BOTH 7 WAY ROUND CURT MFG.	1	\$36.00	\$36.00
CUR58000 BRACKET,ELEC,7WAY/4FLAT 2.00" CURT MFG.	1	\$18.00	\$18.00
Labor Labor Charge - Per Hour - Partition	2	\$150.00	\$300.00
Labor Labor Charge - Per Hour - Interior Lights	3	\$150.00	\$450.00
Labor Labor Charge - Per Hour - Shelving w/ install kit	5	\$150.00	\$750.00
Labor Labor Charge - Per Hour - Strobes	6	\$150.00	\$900.00
Labor Labor Charge - Per Hour - Interior Wall Liners	2.5	\$150.00	\$375.00
Labor Labor Charge - Floor	1	\$150.00	\$150.00
Labor Labor Charge - Hitch and wiring	3	\$150.00	\$450.00
Signature I agree to pay above amount according to card issuer agreement (merchant agreement if credit voucher)			\$16,058.95
NON-REFUNDABLE 50% deposit required on special orders. No refunds on custom- made order items. (Estimates valid for 30 days). Aftermaket parts may void OEM			\$934.76
warranties, increase wear/tear, or leak. All parts must be picked up in 60 days upon arrival. Complete return policy at socaltruck.com/policies		Total \$	

I have read and understand the terms and conditions of a special order.



SoCal Truck Accessories & Equipment 10460 Mission Gorge Rd Santee CA 92071 (619) 749-0742

Jeffery Hart City Of Oceanside 4927 Oceanside Blvd Oceanside CA 92056 United States (760) 435-5980 Estimate #EST-154 4/10/2025

TOTAL

\$30,	,972.	19

Sales Rep	Contact Information	Notes
Paul Vakili	<u>paul@socaltruck.com</u> 1 (619) 729-3362	2024 Ford E-Transit 148 HR - Charlie Cart

Item	Quantity	Price	Ext Price
RDF5-RA72-3 Fold-Away Shelf unit, with 3 shelves, 64"h x 72"w RANGER DESIGN	1	\$2,659.00	\$2,659.00
RDF5-RA36-3 Fold-Away Shelf unit, with 3 shelves, 64"h x 36"w RANGER DESIGN	1	\$2,001.00	\$2,001.00
RD6555-FTL Shelving install kit, passenger side, Ford Transit 148" Wheelbase RANGER DESIGN	1	\$129.00	\$129.00
RD3067-FTH 20" Wide Sliding Door Partition, Polycarbonate Window, Aluminum, Ford Transit High Roof RANGER DESIGN	1	\$2,408.00	\$2,408.00
RD6550-FTL Shelving install kit, driver side, Ford Transit 148" Wheelbase RANGER DESIGN	1	\$158.00	\$158.00
RD6092-42 Universal 42" LED Bar Lighting Kit RANGER DESIGN	3	\$68.00	\$204.00
RD6541-FTL Van floor with inserts to install units, EV safe, drill free mounting, Ford Transit 148" WB RANGER DESIGN	1	\$1,282.00	\$1,282.00
LEG744-114-2613.HR DuraTherm Wall Liner Ford Transit 148" HR LEGEND FLEET	1	\$1,571.00	\$1,571.00
LEG703-114-2613.HR DuraTherm Door Liner Ford Transit (all WB lengths) HR LEGEND FLEET	1	\$501.00	\$501.00
298 Spray-On Bedliner MIL-SPEC LINER	1	\$622.50	\$622.50
298LABOR Spray-On Bedliner Labor; (Truck Bed Empty w/ No Toolboxes or Bed Covers) MIL-SPEC LINER	1	\$622.50	\$622.50
ECCED3794AW Directional, 12 LEDs, flexible, surface mount, dual color, 12-24VDC, amber/white ECCO ESG.	6	\$139.00	\$834.00
TOMCVL-AG-1330 EF71 Cantilever Series; 1300 lb. Capacity; 53 x 60 Load Area; Aluminum; (Installation is not compatible with any form of towing hitch) TOMMY GATE	1	\$10,169.00	\$10,169.00



SoCal Truck Accessories & Equipment 10460 Mission Gorge Rd Santee CA 92071 (619) 749-0742

Item	Quantity	Price	Ext Price
CAM55372 Battery Box; Fits Group 27, 30, and 31 Batteries; Includes Tie Down Strap CAMCO	1	\$18.00	\$18.00
OPT8052-161 Bluetop D31M; 12V; 900 Cold Cranking Amps; Dual-Purpose Top Terminals/ Deep Cycle And Starting OPTIMA	1	\$399.99	\$399.99
SUR3503 Aluminum Tracks (Pair); 8' Aluminum Track	1	\$149.95	\$149.95
SUR3515 End Cap	4	\$8.00	\$32.00
SUR3511 Track Fittings; Double Stud Fitting	6	\$25.99	\$155.94
Labor Labor Charge - Per Hour - Tommy Gate w/ Battery	14	\$150.00	\$2,100.00
Labor Labor Charge - Per Hour - Partition	2	\$150.00	\$300.00
Labor Labor Charge - Per Hour - Interior Lights	3	\$150.00	\$450.00
Labor Labor Charge - Per Hour - Shelving w/ install kit	5	\$150.00	\$750.00
Labor Labor Charge - Per Hour - Strobes	6	\$150.00	\$900.00
Labor Labor Charge - Per Hour - Interior Wall Liners	2.5	\$150.00	\$375.00
Labor Labor Charge - Floor	1	\$150.00	\$150.00
Labor Labor Charge - Tie-Down System	1.5	\$150.00	\$225.00
Signature I agree to pay above amount according to card issuer agreement (merchant agreement if credit voucher)	Subtotal \$29,1		\$29,166.88
NON-REFUNDABLE 50% deposit required on special orders. No refunds on custom- made order items. (Estimates valid for 30 days). Aftermaket parts may void OEM		Tax Total (7.75%)	
warranties, increase wear/tear, or leak. All parts must be picked up in 60 days upon arrival. Complete return policy at socaltruck.com/policies		Total	\$30,972.19
I have read and understand the terms and conditions of a special order			

I have read and understand the terms and conditions of a special order.